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(Gr oup- A Very Short Answer Type Questions)

el uiwr g'y-ﬁ & W éﬁ‘wz (Answer any five questlom) 2x5=10
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Write S.1. Unit of electric charge. What is the char ge onan electron?
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Which physical quantity is measured by using Voltmeter? How s a
voltmeter connected in electric circuit?
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Give an example of a metal Wthl’l is found in liquid state at room

temperature,
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" Write the general for mula of alkyne.
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" Which plant did Mendal choose for his experiment?
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uk Give example of a biodegradable substance.
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What do producers depends for their energy?
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(Group-A : Very Short Answer Type Questions) |
8 i weal & s AR (Answer any five questions) 2x5=10
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Write the STunit of Electric current? Which dcvu,c is used to measure
electric’current in a conductor? '
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~ Write S.1. Unit of Resistance? The resistance of a wire depends upon
its length. Yes or no?
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Name two metals WhICh can be casily cut with a knife.
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Which functional group is pre%m inCH3COCH3 CyHy.
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~ What is fossil? |
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~ What do you mean by inherited traits? - T
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.+ Give example of a food chain. :
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(Group-A : Very Short Answer Type Questions)
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What is SI unit
maint
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Which physical quantity is measured

by using ammeter? How is it
connected in an clectric circuit? |
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| Solder which is an alloy is made up of which metals? '
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Which of the following compounds would be homologous series
' ' »
compounds:.(;H4. CHrHy. CzH@.C?_H2 ‘
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; h..'”Name the se: chromosomes found in male and I'cm;\le.
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- Give ex
amplL of abiotic componem of ccosystcm
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(Group-A : Very Short Answer Type Questions)

&gl ot wi & swc ﬁﬁﬂ{ (Answer any five questions) 2% 5=10
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# On .the basis Ohm's law, write the relatlon belween potential

difference and electric current? Define one ampere.
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riatis the eltect of change inlength of a conductor onits resistance
and resistivity?
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Whatis Amalgum ?
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The molecular formula of ethene'is
bonds in it? ‘
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What is the benefit of variation found in organism?
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~" What is analogous organs? e g |

AT I R TN T STT-376TT Bl & A oA
aﬁaﬂ%%,wﬁmaﬁaﬁ%lmmw%lm@%m
ﬁéﬁim%d@imgﬁxa@_ﬁm‘mﬁmaﬂaﬁ

| , SIfeT 396 g 3T ®l | |
'Taiuaﬁmfm@m%ﬁwgmﬁé%m

Give an example' of your behaviour which shows that you are eco

friendly.
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(Group-A : Very bhort Answer Type Questions)

ol are ugat éi S Eﬁﬁm (Answel any five questions) 2 » 5 =16
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Write the S.1 umt of runstmty" Wlu,thcr it depends upon length of a
conductor?
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Write two advantages of connecting cleetrical devices in parallel with

the source in domestic electrical circuits,
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Name two such metals which melt when placed on the palm.
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Which of the following comp@unds show addition reaction :
C':)_H(,, C3H_8. C3HG’ Clez

¥R : C4H,, C,H, - | g |

g‘fﬁrﬁff%aacgws i) 3IR C,H, (QRafeeiiv) srigat aeaies
5. STFAHT A o0 T whEw §7

" What do you understand by inheritance? ,

. SW Wmaﬁw&w—ﬁm%ﬁaﬁﬁﬁﬁm%ﬁmﬁ
ufsear I ¥ Ww—ﬁm@m@ﬁﬁﬁaﬂaﬁmmm
tnfia‘a:ng ﬁtﬁmﬂ_mﬁw—ﬁmﬁwmw
OIS B B | -

6. ST oY & arf I fory e A ware ST & ?
+~" . Which chemical substance is responsible for ozone layer depletion?
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